



تابع  $f(n) = \frac{bn+r}{n+b}$  و  $g(n) \in \mathbb{R} - \{a\}$  حاصل  $\frac{ab}{c}$  می شود، می توانیم

$$\frac{bn+r}{n+b} \leq c \rightarrow bn+r \leq cn+bc$$

$$nc=b \rightarrow b = n \times \frac{1}{c} \leq \frac{1}{c} \leq b = n \times \frac{1}{c} \leq \frac{1}{c}$$

$$r \leq bc \leq nc \leq nc \rightarrow c \leq \frac{1}{n} \leq \frac{1}{c}$$

$$\frac{ab}{c} \leq \frac{\frac{1}{c} \times \frac{1}{c}}{-\frac{1}{c}} \leq \frac{1}{c} \leq \frac{-\frac{1}{c} \times \frac{1}{c}}{-\frac{1}{c}} \leq \frac{1}{c}$$

$$c \leq \frac{1}{n} \leq \frac{1}{c}$$

$$\frac{ab}{c} \in \{\frac{1}{c}, -\frac{1}{c}\}$$

نکته:  $bn+r = a \rightarrow n = \frac{a-b}{b}$

اگر تابع  $f = \{(1,2), (2,1), (3,4), (4,3)\}$  و  $g = \{(1,3), (2,2), (3,1), (4,0)\}$

$f \circ g = \{(2,1), (3,2), (4,3), (1,4)\}$

$f+g = \{(1,-1), (2,1), (3,2), (4,3)\}$

اگر تابع  $f = \{(1,a), (2,b), (3,c), (4,d)\}$  و  $g = \{(1,-1), (2,1), (3,b), (4,a)\}$  باشد

$$\begin{cases} a-b=1 \\ a-2b \leq c \\ -3 \leq -3-2b \leq 1 \\ -1 \leq -2b \leq c \end{cases}$$

$$\begin{cases} a+b \leq -3 \\ -2-2b \leq c \end{cases}$$

$$-1+d \leq 2$$

آر تعریف  $f(n) = \sqrt{-n^2+n+m}$  و  $g(n) = \{(a,b)\}$  می توانیم

$$f(a) \leq b \leq \sqrt{a^2+am}$$

$$\Delta \leq (-1)^2 - 2(m) \leq 1 - 2m \geq 0 \rightarrow m \leq \frac{1}{2}$$

$$\Delta \leq 0 \rightarrow 1 - 2m \leq 0 \rightarrow m \geq \frac{1}{2}$$

$$a + b \leq \frac{1}{2} + 0 \leq \frac{1}{2}$$

$$f\left(\frac{1}{2}\right) = \sqrt{\left(\frac{1}{2}\right)^2 + \frac{1}{2} - \frac{1}{2}} = \sqrt{\frac{1}{4} + \frac{1}{2} - \frac{1}{2}} = \sqrt{\frac{1}{4}} = \frac{1}{2}$$

اگر  $a+b+c$  حاصل  $\frac{r}{n-c}$  و  $f(n) = \frac{4n+a}{n^2+4n+b}$

$$4n^2+12n+4b \leq 4n^2-4nc+an-ac$$

$$a-4c \leq 12-4c \leq b$$

$$a+b+c \leq 4+9-4 \leq 9$$